








How many pair of letters are there in the word “EFFECTIVE” which 

has as many letters (in both forward and backward direction) in 

between as they have in English alphabet series?

शब्द “EFFECTIVE” में अक्षरों के ऐसे ककतने युग्म हैं किनके बीच में उतने ही अक्षर 

हैं (आगे और पीछे दोनों कदशाओ ंमें) कितने उनके बीच अंगे्रिी वर्णमाला श्रंखला में 

हैं?

1.Two

2.Three

3.Four

4.None of these

5.One



5 4 A B % & 3 5 E 2 1 U * G @ © 9 C 5 7 F K I 4 £ T V 9 4 H € L M 1

Four of the following are alike in a certain way based on their position in 
the above arrangement . Find the one which does not belong to that group?

उपरोक्त व्यवस्था में अपनी स्स्थस्ि के आधार पर स्नम्नस्िस्िि में से चार एक स्नस्िि िरीके से 
समान हैं। उस समहू का पिा िगाए ंजो उस समहू से संबंस्धि नहीं ह?ै

1.7 K £

2.4 € 1

3.4 B 3

4.U G ©

5.B & E



5 4 A B % & 3 5 E 2 1 U * G @ © 9 C 5 7 F K I 4 £ T V 9 4 H € L M 1

If the first eighteen elements in the above sequence are written in reverse 
order, then which of the following will be at the eighteenth position from the 
right end?
यस्ि उपरोक्त क्रम में पहिे अठारह ित्वों को उल्टे क्रम में स्ििा जािा ह,ै िो स्नम्नस्िस्िि में से 
कौन िायें छोर से अठारहवें स्थान पर होगा?

1.4

2.A

3.©

4.9

5.NOT



5 4 A B % & 3 5 E 2 1 U * G @ © 9 C 5 7 F K I 4 £ T V 9 4 H € L M 1

If all the symbols in the above arrangement are dropped then which of the 
following element is tenth from the left of third element from the right end ? 

यस्ि उपरोक्त व्यवस्था में सभी प्रिीकों को हटा स्िया जािा ह ैिो स्नम्नस्िस्िि में से कौन सा ित्व

िायें से िीसरे ित्व के बाएं से िसवां ह?ै

1.U

2.5

3.7

4.F

5.E



5 4 A B % & 3 5 E 2 1 U * G @ © 9 C 5 7 F K I 4 £ T V 9 4 H € L M 1

How many numbers are there which are immediately preceded 
by a symbol and followed by a consonant ?
ऐसी स्किनी संख्याए ँहैं स्जनके ठीक पहिे एक प्रिीक और बाि में एक व्यंजन ह?ै

1.1

2.2

3.3

4.4

5.NOT



5 4 A B % & 3 5 E 2 1 U * G @ © 9 C 5 7 F K I 4 £ T V 9 4 H € L M 1

How many vowels are there which are immediately preceded by a perfect 
square?
ऐसे स्किने स्वर हैं स्जनके ठीक पहिे एक परू्ण वगण ह?ै

1.1

2.2

3.3

4.4

5.NOT



Statement: 

M > N ≥ O = P ≤ Q < R > S

Conclusion:

I. M > P

II. O < R

1.Only II is true

2.Both I and II are true

3.Only I is true

4.Either I or II is true

5. None is true



Statement: 

M ≥ B ≥ N = Z > X ≤ R > S

Conclusion:

I. M > X

II. N > S

1.Only II is true

2.Both I and II are true

3.Only I is true

4.Either I or II is true

5. None is true



Statement: 

D < E ≤ F, G > H ≥ I > F

Conclusion:

I. E ≤ H

II. H > D

1.Only II is true

2.Both I and II are true

3.Only I is true

4.Either I or II is true

5. None is true



Statements: J > D > A ≥ S; C > X ≤ F ≤ S 
Conclusions: 

I. D ≥ X 
II. C > A 
1. Only II is True 
2. Neither I nor II is True 
3. Both I and II are True 
4. Either I or II is True 
5. Only I is True



Statements: F < A > B = E; D < C = G > E 
Conclusions: 

I. A > E 
II. E > D 
1. Only I is true 
2. Only II is true 
3. Either I or II is true 
4. Both I or II is true 
5. Neither I or II is true



Statements: W = B; B ≤ F; F < R 
Conclusions: 

I. W = F 
II. W < F 
1. Only I is True 
2. Only II is True 
3. Either I or II is True 
4. Neither I or II is True 
5. Both I and II are True



How many such pairs of letters are there in the word ‘UNIQUE’, each of which has 

as many letters between them in the word (both forward and backward direction) as 

they have between the English alphabetical series ?

शब्ि 'UNIQUE' में अक्षरों के ऐसे स्किने जोडे हैं, स्जनमें से प्रत्येक के बीच शब्ि में (आगे और पीछे 

िोनों स्िशाओ ंमें) उिने ही अक्षर हैं स्जिने स्क अंगे्रजी वर्णमािा श्रंििा के बीच हैं?

1.Two

2.Three

3.Four

4.None 

5.One



Q. In a Certain code LOYALTY is written as MPZBMUZ ,than find the 

code for PROCLAIM ?

Q.एक कनकित कोड में LOYALTY का कोड MPZBMUZ कलखा गया है तो

PROCLAIM का कोड क्या होगा ?

1. QSPDDBJN

2. QSPDBMJN

3. QSPDMBJN

4. QPSDMBJN



Q. In a Certain code TOAST is written as 03210 , RIGID is written as 

45759 than find the code for DOOR ?

Q.एक कनकित कोड में TOAST का कोड 03210 कलखा गया है , RIGID का कोड

45759 कलखा गया है तो DOOR का कोड क्या होगा ?

1. 9331

2. 9334

3. 3390

4. 1314



Q. In a Certain code SELDOM is written as NPEMFT, than find 

the code for SACRIFICE ?

Q.एक कनकित कोड में SELDOM का कोड NPEMFT कलखा गया है तो

SACRIFICE का कोड क्या होगा ?

1. FDJGJDSBT

2. FDJGJSDBT

3. FDJSJGTBD

4. FGDJGDSBT



Q. In a Certain code DONKEY is written as ZEKNOE , than 

find the code for RAINBOW ?

Q.एक कनकित कोड में DONKEY का कोड ZEKNOE कलखा गया है तो

RAINBOW का कोड क्या होगा ?

1. WOBNAIR

2. WOBNAIR

3. WOBNJBR

4. WOBNIAR



Q. In a Certain code TIRED is written as 56, BRAIN is written as 

44 than find the code for LAZY?

Q.एक कनकित कोड में TIRED का कोड 56 कलखा गया है , BRAIN का

कोड 44 कलखा गया है तो LAZY का कोड क्या होगा ?

1. 64

2. 61

3. 58

4. 43



Q. In a Certain code SUN is written as 26, WIN is written as 18

than find the code for TIE ?

Q.एक कनकित कोड में SUN का कोड 26 कलखा गया है , WIN का कोड 18

कलखा गया है तो TIE का कोड क्या होगा ?

1. 25

2. 24

3. 29

4. 26



Q. In a Certain code PERSON is written as 957561

, than find the code for SACHIN ?

Q.एक कनकित कोड में PERSON का कोड 957561 कलखा गया है तो

SACHIN का कोड क्या होगा ?

1. 321598

2. 311598

3. 311986

4. 311985



Q. In a Certain code WATSON  is written as 112843, JOHN is 

written as 1483 than find the code for POINTING ?

Q.एक कनकित कोड में WATSON का कोड 112843 कलखा गया है , JOHN 

का कोड 1483 कलखा गया है तो POINTING का कोड क्या होगा ?

1. 44932937

2. 54932936

3. 53942937

4. 54932937



Statement:

Only a few cups are buckets.

No bucket is a jug.

Conclusion:

I. Some cups are not bucket.

II. Some cups are not jug

कथन: 

केवि कुछ कप बाल्टी हैं। 

कोई बाल्टी जग नहीं ह।ै 

स्नष्कर्ण: 

I. कुछ कप बाल्टी नहीं हैं। 

II. कुछ कप जग नहीं हैं



Statement:

Only a few cups are buckets.

No bucket is a jug.

Conclusion:

I. Some cups are not bucket.

II. Some cups are not jug



Statement:

All numbers are natural. 

Only a few numbers are prime. 

Conclusion:

I. No prime is number. 

II. Some prime are natural.

कथन: 

सभी संख्याएँ प्राकर स्िक हैं। 

केवि कुछ संख्याएँ अभाज्य हैं। 

स्नष्कर्ण: 

I. कोई प्राइम नंबर नहीं ह।ै 

II. कुछ प्राइम नेचरुि हैं.



Statement:

All numbers are natural. 

Only a few numbers are prime. 

Conclusion:

I. No prime is number. 

II. Some prime are natural.



Statement:

Some vowels are words. 

Only a few words are sentences. 

Conclusion:

I. Some words are not sentences. 

II. Some vowels are sentences. 

कथन:

कुछ स्वर शब्ि हैं।

केवि कुछ शब्ि वाक्य हैं।

स्नष्कर्ण: 

I. कुछ शब्ि वाक्य नहीं हैं। 

II. कुछ स्वर वाक्य हैं।



Statement:

Some vowels are words. 

Only a few words are sentences. 

Conclusion:

I. Some words are not sentences. 

II. Some vowels are sentences. 



Q is father of A and B. X is mother of K, N is son of A. N is the only brother of K. X is 

daughter-in-law of P. P has only one daughter and one son.

Q, A और B का स्पिा ह।ै X, K की मािा ह,ै N, A का पतु्र ह।ै N, K का इकिौिा भाई ह।ै X, P की 

पतु्रवध ूह।ै P की केवि एक पतु्री और एक पतु्र ह।ै

Which of the following needs to be true to establish that K is daughter of X?

K, X की पतु्री ह,ै यह स्थास्पि करने के स्िए स्नम्नस्िस्िि में से कौन सा सत्य होना आव्यक ह?ै

1. B is unmarried

2. X has only one son

3. N is grandson of Q

4. No extra information is required

5. None of these



Kashish went 15 kilometers to the West from my house, then turned right and 

walked 20 kilometers. He then turned East and walked 25 kilometers and finally 

turning right covered 20 kilometers. How far was he from his house? 

कस्शश मेरे घर से 15 स्किोमीटर पस्िम की ओर चिी, स्िर िायें मडुी और 20 स्किोमीटर चिी। स्िर वह 

पवूण की ओर मडुा और 25 स्किोमीटर चिा और अंि में िायें मडुकर 20 स्किोमीटर चिा। वह अपने घर 

से स्किनी िरू था?

1. 5 kilometers 

2. 10 kilometers 

3. 40 kilometers 

4. 80 kilometers 

5. 20 kilometers



There are six members in the group - A, B, C, D, E and F who score different marks 

in an exam. All are sitting in a row according to their marks. B scores the second 

highest mark. Marks of F is less than D. A scores fewer marks than C and E. F is the 

third highest score in the group and has scored 56 marks. D is the highest scorer in 

the group. 

समहू में छह सिस्य हैं - A, B, C, D, E और F जो एक परीक्षा में अिग-अिग अंक प्राप्त करिे हैं। सभी 

अपने अंकों के अनसुार एक पंस्क्त में बैठे हैं। B िसूरा सबसे बडा अंक प्राप्त करिा ह।ै F के अंक D से कम 

हैं। A, C और E से कम अंक प्राप्त करिा ह।ै F समहू में िीसरा सबसे बडा स्कोर ह ैऔर उसने 56 अंक 

प्राप्त स्कए हैं। D समहू में सवोच्च स्कोरर ह।ै



There are six members in the group - A, B, C, D, E and F who score different marks 

in an exam. All are sitting in a row according to their marks. B scores the second 

highest mark. Marks of F is less than D. A scores fewer marks than C and E. F is the 

third highest score in the group and has scored 56 marks. D is the highest scorer in 

the group. 



7 boxes – P, Q, R, S, T, U and V –

are placed one above the other not 

necessarily in the same order. Box U 

is placed third from either of the 

ends. Box P is placed adjacent to 

box U. Three boxes are placed 

between boxes P and S. Number of 

boxes placed above box S is two 

more than the number of boxes 

placed below box V. Box Q is 

placed above box R, which is not 

placed below box S.

7 बॉक्स - P, Q, R, S, T, U और V - एक

के ऊपर एक रिे गए हैं, जरूरी नहीं स्क इसी 

क्रम में हों। बॉक्स U को स्कसी भी छोर से 

िीसरे स्थान पर रिा गया ह।ै बॉक्स P, बॉक्स 

U के स्नकट रिा गया ह।ै बॉक्स P और S के 

बीच िीन बॉक्स रिे गए हैं। बॉक्स S के 

ऊपर रिे बॉक्स की संख्या, बॉक्स V के नीचे

रिे बॉक्स की संख्या से िो अस्धक ह।ै बॉक्स 

Q, बॉक्स R के ऊपर रिा गया ह,ै जो नहीं ह ै

बॉक्स S के नीच ेरिा गया ह।ै



7 boxes – P, Q, R, S, T, U and V –

are placed one above the other not 

necessarily in the same order. Box U 

is placed third from either of the 

ends. Box P is placed adjacent to 

box U. Three boxes are placed 

between boxes P and S. Number of 

boxes placed above box S is two 

more than the number of boxes 

placed below box V. Box Q is 

placed above box R, which is not 

placed below box S.



There are eight people in a family. 

M, K, A, C, D, E, G, and H 

consists of 3 generations. Four of 

them are females. D and A are the 

daughter and son of K respectively 

and both are married. E is the 

sister of H whose father is C. M 

and G are of 3rd generation and M 

is the son-in-law of E. K is the 

brother-in-law of H. 

एक पररवार में आठ िोग हैं। M, K, A, 

C, D, E, G और H में 3 पीस़्ियां हैं। 

इनमें चार मस्हिाएं हैं। D और A क्रमशः 

K की पतु्री और पतु्र हैं और िोनों 

स्ववास्हि हैं। E, H की बहन ह ैस्जसके 

स्पिा C हैं। M और G िीसरी पी़िी के हैं

और M, E का िामाि ह।ै K, H का

सािा ह।ै



There are eight people in a family. 

M, K, A, C, D, E, G, and H 

consists of 3 generations. Four of 

them are females. D and A are the 

daughter and son of K respectively 

and both are married. E is the 

sister of H whose father is C. M 

and G are of 3rd generation and M 

is the son-in-law of E. K is the 

brother-in-law of H. 



7 persons – B, C, D, E, F, G and H are sitting on a row facing north not 

necessarily in the same order. G sits three places away from D. Only one 

person sits between B and G. B sit neither adjacent to D nor at the end. 

Number of persons to the left of H is same as number of persons to the 

right of C. C sits to the right of G and to the immediate left of E.

7 व्यस्क्त – B, C, D, E, F, G और H एक पंस्क्त में उत्तर की ओर मिु करके बैठे हैं िेस्कन 

आव्यक नहीं इसी क्रम में हों। G, D से िीन स्थान िरू बैठा ह।ै B और G के मध्य केवि एक 

व्यस्क्त बैठा ह।ै B न िो D के स्नकट बैठा ह ैऔर न ही अिं में बैठा ह।ै H के बाई ंओर व्यस्क्तयों

की संख्या C के िाई ंओर व्यस्क्तयों की संख्या के समान ह।ै C, G के िाई ंओर और E के ठीक 

बाई ंओर बैठिा ह।ै



7 persons – B, C, D, E, F, G and H are sitting on a row facing north not 

necessarily in the same order. G sits three places away from D. Only one 

person sits between B and G. B sit neither adjacent to D nor at the end. 

Number of persons to the left of H is same as number of persons to the 

right of C. C sits to the right of G and to the immediate left of E.



Eight persons - A, B, C, D, P, Q, R and S live in a 

4-storey building such as ground floor is numbered 

as 1 above it numbered as 2 then top floor is 

numbered as 4 but not necessarily in the same 

order. Each of the floors has two flats in it as flat-1 

and flat-2. Flat-1 of floor 2 is immediately below 

flat-1 of floor 3 and so on. In the same way, flat-2 

of floor 2 is immediately above flat-2 of floor 1 and 

immediately below flat 2 of floor 3 and so on. Flat-

1 is to the West of flat-2. Q lives in an odd-

numbered floor but not on floor number 1. Both R 

and B live in the same flat number. R and A live in 

the same floor. B does not live in flat-2. There is a 

gap of one floor between Q and S. Both Q and S do 

not live in the same flat. R lives 3 floors above B. C 

lives immediately below D on the same flat.

आठ व्यस्क्त - A, B, C, D, P, Q, R और S एक 4 मंस्जिा

इमारि में रहि ेहैं जैसे भिूि की संख्या 1 ह,ै इसके ऊपर की संख्या 

2 ह ैिो शीर्ण मंस्जि की संख्या 4 ह ैिेस्कन आव्यक नहीं स्क एक 

ही क्रम। प्रत्येक मंस्जि में फ्िैट-1 और फ्िैट-2 के रूप में िो फ्िैट 

हैं। िि 2 का फ्िैट-1, िि 3 के फ्िैट-1 के ठीक नीच ेह ैऔर इसी 

प्रकार आग ेभी। इसी िरह, मंस्जि 2 का फ्िैट-2, मंस्जि 1 के 

फ्िैट-2 के ठीक ऊपर और मंस्जि 3 के फ्िैट 2 के ठीक नीच ेह ै

और इसी िरह। फ्िैट-1 फ्िैट-2 के पस्िम में ह।ै Q एक स्वर्म 

संख्या वािी मंस्जि पर रहिा ह ैिेस्कन मंस्जि संख्या 1 पर नहीं। 

R और B िोनों एक ही फ्िैट संख्या में रहिे हैं। R और A एक ही 

मंस्जि पर रहि ेहैं। B फ्िैट-2 में नहीं रहिा ह।ै Q और S के बीच 

एक मंस्जि का अिंर ह।ै Q और S िोनों एक ही फ्िैट में नहीं रहिे 

हैं। R, B से 3 मंस्जि ऊपर रहिा ह।ै C, D के ठीक नीच ेउसी 

फ्िैट में रहिा ह।ै



Eight persons - A, B, C, D, P, Q, R and S live in a 

4-storey building such as ground floor is numbered 

as 1 above it numbered as 2 then top floor is 

numbered as 4 but not necessarily in the same 

order. Each of the floors has two flats in it as flat-1 

and flat-2. Flat-1 of floor 2 is immediately below 

flat-1 of floor 3 and so on. In the same way, flat-2 

of floor 2 is immediately above flat-2 of floor 1 and 

immediately below flat 2 of floor 3 and so on. Flat-

1 is to the West of flat-2. Q lives in an odd-

numbered floor but not on floor number 1. Both R 

and B live in the same flat number. R and A live in 

the same floor. B does not live in flat-2. There is a 

gap of one floor between Q and S. Both Q and S do 

not live in the same flat. R lives 3 floors above B. C 

lives immediately below D on the same flat.



Certain number of people are sitting in 

a linear row facing towards the north 

direction. U sits third from one of the 

extreme ends but not adjacent to S. 

Four persons sit between A and B. Two 

persons sit between B and E. More than 

two persons sit between B and P. Y sits 

immediate left of A. Y sits fifth from 

one of the extreme ends. R sits third 

from one of the extreme ends. Nine 

persons sit between Y and R. S sits 

fourth to the left of E. P sits third to the 

right of S.

कुछ िोग एक पंस्क्त में उत्तर स्िशा की ओर 

उन्मिु होकर बैठे हैं। U स्कसी एक अंस्िम छोर 

से िीसरे स्थान पर बैठा ह ैिेस्कन S के आस-

पास नहीं ह।ै A और B के बीच चार व्यस्क्त 

बैठे हैं। B और E के बीच िो व्यस्क्त बैठे हैं। B 

और P के बीच िो से अस्धक व्यस्क्त बैठे हैं। 

Y, A के ठीक बाए ंबैठा ह।ै Y बैठा ह ैस्कसी 

एक अंस्िम छोर से पांचवां। R स्कसी एक 

अंस्िम छोर से िीसरे स्थान पर बैठा ह।ै Y और 

R के बीच नौ व्यस्क्त बैठे हैं। S, E के बायें से

चौथे स्थान पर बैठा ह।ै P, S के िायें से िीसरे

स्थान पर बैठा ह।ै



Certain number of people are sitting in a linear row facing towards the north 

direction. U sits third from one of the extreme ends but not adjacent to S. Four 

persons sit between A and B. Two persons sit between B and E. More than two 

persons sit between B and P. Y sits immediate left of A. Y sits fifth from one of the 

extreme ends. R sits third from one of the extreme ends. Nine persons sit between Y 

and R. S sits fourth to the left of E. P sits third to the right of S.



There are eight cars A, B, C, D, E, F, G, and H 

in a park within a certain distance. Car A is 

8km to the east of Car B, which is 9km north of 

Car D. Car C is 5km to the south of Car F, 

which is 6km to the west of Car G. Car G is 

4km to the north of Car A. Car E is 8km to the 

west of Car C. Car H is 2km to the south of Car 

E. Car G is in which direction with respect to 

Car C? 

1. North 

2. South 

3. East 

4. South-West 

5. North-East

आठ कारें A, B, C, D, E, F, G और H एक 

स्नस्िि िरूी के भीिर एक पाकण में हैं। कार A, कार 

B के 8 स्कमी पवूण में ह,ै जो कार D के 9 स्कमी 

उत्तर में ह।ै कार C, कार F के 5 स्कमी िस्क्षर् में ह,ै 

जो कार G के 6 स्कमी पस्िम में ह।ै कार G, कार 

A के 4 स्कमी उत्तर में ह।ै कार E, कार C के 8 

स्कमी पस्िम में ह।ै कार H, कार E के 2 स्कमी 

िस्क्षर् में ह।ै कार G, कार C के संिभण में स्कस 

स्िशा में ह?ै 

1.उत्तर 

2. िस्क्षर् 

3. पवूण 

4. िस्क्षर्-पस्िम 

5. उत्तर-पवूण



There are eight cars A, B, C, D, E, F, G, and H 

in a park within a certain distance. Car A is 

8km to the east of Car B, which is 9km north of 

Car D. Car C is 5km to the south of Car F, 

which is 6km to the west of Car G. Car G is 

4km to the north of Car A. Car E is 8km to the 

west of Car C. Car H is 2km to the south of Car 

E. Car G is in which direction with respect to 

Car C? 

1. North 

2. South 

3. East 

4. South-West 

5. North-East


